XXI century physics @ ClassrooM

Lesson one: Looking for the invisible world

Activities

1. Choose the right answers. There is always at least one right answer, but it could
be more than one.
a. Protons and neutrons are the elementary particles of the nucleus
b. If you break a neutron you will obtain three quarks
c. The electrical charge of nucleus must be 0

2. Two quarks up and one quark down, makes...
a. One proton
b. One neutron
c. One electron

3. One electron and one proton...
a. Annihilates each other
b. Have opposite charges
c. Are elementary particles from the atom
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If the proton and neutrons in this picture were

10 cm across, then the quarks and electrons radioactive.
would be less than 0.1 mm in size and the
entire atom would be about 10 km across
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